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1. EXPRESS THE FOLLOWING PERCENTAGES AS (i) DECIMALS (ﬁ) FRACTIONS IN
THEIR LOWEST TERMS . '

(a) 7% (b) 28%  (c) 6% . (d)40%
ey 12y (®) s () 659 (w8l

2. EXPRESS THE FOLLOWING AS PERCENTACES
(a) 0.7 (b) 0.08  (c).0.835
(d) 24725 () 3/8 £ /3 -, | ¢

3. WHAT PERCENTAGE IS

(a) $1.50 of $2 (b) 750mL o 3L
4. FIND |
(a) 40% of Im (b)75% of $280

_@_.) 43.65% of 10000  (d)2% of $137

e

5. (a‘) A STUDENTS TEST MARK IS 29 OUT OF 40. WHAT PERCENTAGE IS THIS?

- (b) DETERMINE WHICH IS THE LARGEST: 7/8, 0.81, 85%, 61 out of 70 _ | (,4
c_) EXPRESS 6% AS A FRACTION IN ITS LOWEST TERMS, AMD HENCE FIND 61»% s?i%@

' §.(4) FIND THE AMOUNT OBTAINED BY INCREASING 420 by- 10%.
fb) IF A METRE LENGTH IS REDUCED BY 4%, WHAT LENGTH REMAINS?

{c) A SUM OF $100 IS INCREASED BY 20% AND THE' RESULTING SUM IS THEN
. decreased by 20%. Is the final answer still $100? 1If not, what sum
-~ is obtained? A ) : B
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